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Homework

Pg. 155-157 #1, 2(part i only), 4ac, 9, 11, 12
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The Equation of a Circle

Any circle that has its centre at the origin, (0,0), has the
same general equation.

l\ Using the provided circle:
/ \:‘ 7 a) What is the length of the line OC?
e b) What is the length of the line OE?
*T——*; ¢) What about OH, OD or OP?
S 7

Think of the distance to each point as the hypotenuse of a right angle
triangle.

Remember that in the right angle triangle, a* + b? = ¢ This idea can
be translated to the length of a line from the centre point.

The length of a line is:

P=x+y?

Using the formula, we can calculate the length of the lines OD, OF,
and OH

OD’ =3+ 47 OF> = (-3 + 4 OH’ = (-3)" + (4)
OD’=9+ 16 OF’= 9+ 16 OH*=9+16
oD?=25 OF?=25 OH*=25

oD =5 OF = 5 OH = 5

Notice that the distance from the origin to any point on the circle is the
same: 5 units. Each distance is a radius of the circle. Also notice that the x-
intercepts of the circle are -5 and 5, and the y-intercepts are also -5 and 5.
Using these properties, we can say that the length of OP* = x> + y* or that
the x-coordinate? + the y-coordinate® equals the radius®
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Determine whether each point below is on the circle x> + y* = 50
a) (-1,7) b) (4,6)

Eay=p

(1) + (77 =50

1+49=50
50=50

Go through the 3 examples in the book on page #154

Do # 10 on page 156 together after the third example.
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Equation of a Circle

The equation of a circle with centre (0,0) and radius r is x* + y* = r*

The x-intercepts of the circle x> + y* = r* are -r and r. The y-intercepts are
also -randr.

Write the equation of each circle.

a) centre (0,0) and radius 7
b) centre (0,0) and radius 3/2

b) X +y’ =(32)
X +y =9/

The equation of a circle with centre (0,0) is x* + y* = 37. What is the
radius of the circle, to the nearest tenth?

Answer:

The square of the radius, or 2 is 37.
r=1/37
r=6.1




